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Econ 520 F11
Homework 7
11/1, 11/3, due 11/4
For full credit, show your calculations on each computational problem.

1.  (10 HW points)  Using the Money and Credit model in M&B Chapter 19, what effect will a one-time decrease in the supply of money will have on the equilibrium real interest rate?  Assume zero inflationary expectations for simplicity.  


a)  increase


b) decrease


c)  no effect one way or the other

2  (10 HW points)  What temporary effect will a one-time decrease in the supply of money have on real interest rates?  Assume zero inflationary expectations for simplicity.   


a) increase


b) decrease


c) no effect one way or the other 

3.  (10 HW points)  Assuming Adaptive Learning, holding the real interest rate permanently below its equilibrium value requires


a) a one-time increase in the money supply


b) a one-time decrease in the money supply


c) a steady rate of growth in the money supply


d) a steady rate of decrease in the money supply


e)  an accelerating rate of growth in the money supply


f)  an accelerating rate of decrease in the money supply

4 (10 homework points)   If recent annual inflation  has been 3.9% (as from Sept. 2010 to Sept.  2011), while the real “income gap” is estimated to be 0, what nominal Federal Funds Rate target is called for by the “Taylor Rule”?

5  (10 homework points)  If annual inflation has been 3.9%, while the Fed Funds Rate target is 0% (its approximate current setting), what “output gap” must the Fed be assuming exists if it is following the original “Taylor Rule”?  (Hint – this requires solving the Taylor Rule for  the output gap in terms of the Fed Funds Rate target and recent inflation.)  
6.  (10 HW points)  If the Fed is targeting the Fed Funds rate with a Taylor-like rule that incorporates strong inflation feedback (i.e. a coefficient on recent inflation greater than 1.0), an increase in the intercept will tend to 


a)  increase equilibrium inflation


b) decrease equilibrium inflation


c) have no effect on equilibrium inflation


d) destabilize inflation

7.  (10 HW points)  If the Fed is targeting the Fed Funds rate with a Taylor-like rule, a reduction in the coefficient on recent inflation to a value between 0 and 1.0 such as 0.5 will tend to 


a)  increase equilibrium inflation


b) decrease equilibrium inflation


c) have no effect on equilibrium inflation


d) destabilize inflation

8.  (25 HW points -- 5 each)  Choose from the following menu of potential answers to best classify each of the indicated.  (Not all are relevant)


Inside Lag


Outside Lag


Jet Lag


Recognition Lag


Decision Lag


Implementation Lag


Distributed Lag

a.  The time it takes the FOMC to meet and choose a course of action


_________________

b  The Recognition, Decision, and Implementation Lag together make up the 


__________________

c.  The time it takes for the FOMC to make a large desired change in its Fed Funds target, if it does this in several small steps of 25 basis points each, as customary


___________________

d.  The time it takes a policy action such as a change in interest rates or change in the monetary base to affect spending and prices


_____________________

e.  The time it takes for data on prices, output or employment to be collected, processed, and made available to policy makers


_____________________

